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1. ZHOAERT 1

BB G ’%‘f? B G ’%‘f? BB G ’%‘f?
1000 0.63 40, 000 2.2 550, 000 9.111
2000 0. 66 50, 000 2.5 600, 000 9. 555
3000 0.69 80, 000 3.1 650, 000 9. 983
4000 0.72 100, 000 3.5 700, 000 10. 395
5000 0.79 150, 000 4. 479 750, 000 10. 795
6000 0. 85 200, 000 5. 241 800, 000 11.182
7000 0. 89 250, 000 5.921 850, 000 11. 559
8000 0.93 300, 000 0. 542 900, 000 11.926
9000 0.97 350, 000 7.117 950, 000 12. 284

10, 000 1 400, 000 7. 656 1, 000, 000 12.633
20, 000 1.5 450, 000 8. 165 1, 500, 000 15. 767
30, 000 1. 875 500, 000 8. 649 2, 000, 000 18. 452
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HIEH () TR RBRET

0 1. 00

100 0. 85

200 0. 70

300 0. 58

400 0. 48

500 0. 40

600 0. 34

800 0. 24

1000 0.16
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100% 100%

90% 91%

80% 82%

70% 73%

60% 64%

50% 55%




9. TWERIFEZRE9

10. 2R HEERH10
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WHERE RRPEREO
fEKGE 0.9
ZIRIE 1.1
A X Sy 1.0
T/ 3 SE A AR RE 10
ANt 30% [0.30, 0.60]
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I 90% (1. 50, 3.50]
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